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QUESTION 1

You want to enable PFE fast reroute for the MPLS nodes that are acting as bypass routers for multiple MPLS LSPs.
Which action must you take to facilitate this behavior?

A. Apply a load balancing policy to the forwarding tables of the bypass routers.

B. Apply the RSVP fast reroute feature on the bypass routers.

C. Apply the MPLS link protection feature on the bypass routers.

D. Apply the RSVP load balance feature on the ingress and the bypass routers.

Correct Answer: A

QUESTION 2

You want to aggregate policing for different protocol families and different logical interfaces on the same physical
interface. Which CoS configuration attribute will accomplish this goal?

A. hierarchical policer

B. shared bandwidth policer
C. physical interface policer
D. logical interface policer

Correct Answer: C

QUESTION 3
You want to use I1S-IS on a GRE interface where the underlying Layer 3 MTU is 1500. Which statement is correct?

A. IS-IS can be used because every IS-IS interface must be capable of transmitting packets at least as large as 1476
bytes, and the GRE header is 24 bytes.

B. IS-IS cannot be used because the IS-IS hello is not allowed to be fragmented and has the DF bit set.
C. IS-IS can be used, but the networking device directly attached to the circuit must be capable of fragmentation.
D. IS-IS cannot be used, but the router can enable a GRE key that serves the same function as IS- IS.

Correct Answer: C

QUESTION 4

Click the Exhibit button.

Latest INO-660 Dumps | JNO-660 Practice Test | JINO-660 Braindumps 2/5


https://www.passapply.com/jn0-660.html
https://www.passapply.com/jn0-660.html
https://www.passapply.com/jn0-660.html

VCE & PDF https://www.passapply.com/jn0-660.html
2024 Latest passapply JNO-660 PDF and VCE dumps Download
PassApply.com

userfriuter> monitor traffic detail interface so=-1/1/0 =ize 1514
Listening on so=07/1/0
11:55:48. 470418 In T8TE(186), 30:30:30:30:30:30 > 30:30:30:30:30:30, hlen: 27; w: 1,
aya-id-len: & (0}, meax-wrea: 3 (0}, LZ L3P
lsg-1cd: 1921.6804.8001.00-00, seq: 0x00000008, lifetime: 1185a
chisum: Ox86e® (sorrect), PDU length: 1Bs6, LILE IS
Arza address(sz) TLIV #Ll, length: 4
Area addreas (3): 49.0001
Pratocaola supported TLV #1293, length: 2
NLEID(=2): IPvd, IEvE
rezftic Bnginsering Router 1o 1LV #134, lengch: 4
Traftfic Engineering Router ID: 132.168.43.1
IFvd Interface addressies) TLV #13E, length: o
IPvi: interface address: 192.168.48.1
Hostname TLV #137, length: @
Hostname: HaocFPaulao
ITPvwd Internal reschability TLV #128, length: 24
IPv4 pretix: 1%, 1eH.4H.1/82
Default Metric: 00, Internal, Diatribution: up
IPvd prefix: 10.222.60.0/24
Default Metric: 10, Internal, Distribution: up
Extended IPvdé reachability TLV #1135, length: 17
Iowd prefix: 1592.169.48.1/32
Metric: 0, Distribution: wg, no sub-TLV= present
ITPwd prefix: 10.ZZ2.60.0/24
Metrig: 10, Distributicn: up, ho sub-[FLVs presentc
IPvd External reachability TLYV #130, length: 1Z
IPwd prefix: 192.168.45.0/24
pefault Metric: 00, Internsl, Discribution: up
Extended IPv4 reachsbility TLV #135, Length: 3
IPvY prefix: 192.163,49.0/24
Metric: 0, Distribution: up, no sub-TLV= present
I3 Reachabhility TLV #2, length: 12
LaNotVirtual
IPvd prefix: 192.168.49.0/24
Default Metric: 00, Internal, Distribution: up
Bxtended IFv4 reachabilicy TLW #1135, length: E
IPvil prefix: 192,1€8.49.0/24
Metric: 0, Diatribution: up, no aub-TLVs pressnt
I3 Reachabilicy TLV #Z, length: 12
IsHotVictusl
I3 Meighhor: LSZ1.6805.2001.00, Default Metric: 10, Intscnal
Extended I8 Reschability TLV #ZZ, length: Z3
I3 Neighbor: LS9Z1.6B05,Z001.00, Metric: 10, sub-TLV= present (LE)
IPvd interfece asddresa; 10.2Z22.60.%2
IPv4 neighbor address: 10.Z22.60.1
Authentication TLYV #10, length: 17
HMAC-MDS passworcd: O0bLIZTA571Z2bceanl03elloeZ333077

The output in the exhibit was captured on an interface. Which three statements are true about the configuration on the
router with hostname SaoPaulo? (Choose three.)

A. Wide metrics is not in use.
B. The router has the overload bit set to "on".
C. Authentication is enabled.

D. System ID is 1921.6805.2001.
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E. Level 2 routing is enabled.

Correct Answer: ACE

QUESTION 5

Click the Exhibit button.
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In the exhibit, R1 is advertising a BGP route into both IS-IS and OSPF. There is mutual redistribution from
R1 and R2 into both OSPF and IS-IS.

The following traceroute is performed on R4:

user@rd> traceroute 177.38.4E.1 +tl 10
traceroute to 177.38.48.1 (1%7.38.48.1), 10 hops max, 40 hbyte packets

1 R3 (67.176.0.21) 2.011 n=s 2.620 ms=s 2.618 ms
Z Bl (A7.176.0.13) 7.74Z ns 10. 603 ms= 6.200 ms
2 RE (B7.176.0.17) 11.726 ms 12.128 ms 13.842 ms
4 p4 (67.176.0.33) 10.740 ms 11.855 ms 10.632 ms
5 BRI (67.176.0.21) 16.012 ms 13.542 ms 12,900 ms
& Bl (&7.175.0.13) 13.780 ms 13.573 ms 13.22Z] ms=s
T OHZ (B67.1l78.0.17) l&.3449 ms3 11.3528 ms 1lZ2.862 m=s
2 R3I (A7.176.0.21) 1Z. 624 ms 17.225 ms 14.5%6 ms=s
10r1 (&7.176.0.13) 21.244 ms 12,124 ms 15.726 ms

What is one way to fix the routing loop?
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A OnR1L
[edit]
user@R1l# set protocols bgp preference 145

B O
[edit]
user@Rl# set protocols 1313 level 2 wide-metrics-only

C. Onk4:
[edit]
user@prd#t set protocols ospf external-preference 187

D. Qnall routers:
[edit]
user@router#ft set protocols ospf reference-bandwidth 104q
A. Option A
B. Option B
C. Option C

D. Option D

Correct Answer: A
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